
次の計算をせよ．１

   
        

       

       

       

       

       

 
    

  

 
    

  

       

       

式の展開　　　　　　　　　　　　　　　　　　　　　５分４０秒



次の計算をせよ．２

　 
   

　       

　 
      

　

　       

　 
      

式の展開　　　　　　　　　　　　　　　　　　　　２分３０秒



次の式を因数分解せよ．３

　  　　　　　　　　　　　　　　  

　    　　　　　　　　　　　　　   

　  　　　　　　　　　　　　　　　　    

　  　　　　　　　　　　　　　　　  

　

　

　    　　　　　　　　　　　　　   

　

因数分解　　　　　　　　　　　　　　　　　２分



次の式を因数分解せよ．４

  

    

    

    

    

    

    

       

    

 
         

因数分解　　　　　　　　　　　　　　　　６分


